5.4 Numbers in Expanded Form

Expanded form of a number can be obtained by breaking it and using the
place value of digits in the number.

Example 1 : Write the expanded Example 2 : Write the expanded
form of number 48. form of number 90.
J
' ’ L80nes(8x1=8) |—Oone:s 0:x1=0)
4 tens (4 x 10 = 40) O tens (9 x 10 = 90)
Expanded form of number Expanded form of number
48 = 40 + 8. 90 =90 + 0.
s Exercise g u— 7 N —
Write the numbers given below in expanded form : < | 1
1. 25 = 20+5 13. 59 = 50+9
' 27 39 1047
2. 32 = [AE 14. 97 = SR
2Nk Y9 ,J & _l.‘
. 3. 39 = ——— 15. 16 = : "
I l.f" + "'F‘} -}
P 4. 66 = : 16.89 = 2
| ,17:*_.‘:‘; 1 ,-:. “} +* '8
| 8. 79 = ’ 17. 74 = :
xS 18. 24 = _AOTE
B 7. 98 = 19. 78 = [0+g
F. CALP O}
B 8. 56 =Sl | 20. 86 = Q0 G
9. 67 = T/ 21.90 = Q010D
! 10.19 = LOT 22.72 = LD¥)
W e ¢ 3
11.73 = A2 D 23, 36 = ~2Ot6
NOd F : AN+q
12.55 = —= ' 24. 99 = :
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5.5 Numbers in Compact Form

The compact form of a number is written using the digits 0-9 according to
their place value. ‘

Example 1 : Write 80 + 7 in

compact form.

80 + 7

|— 7 ones
8 tens

Compact form of 80 + 7 = 87

\%?T!:,é/in compact form
.20+ 6 =26
2.30 + 6 = 46
3.60 + 8 = 6%
4.30 + 8 = B6
5. 20 + 3 =8
6. 40 + 7= 4/
7.50 + 0 = |5
8. 00 +2 =10 &

9.°10 + 7 =

10. 60

11. 80

12. 50

13. 70

14. 60

15. 00

16. 00

+ 2

+ 1

Example 2 : Write 40 + 0 in

010)

mpact form.

40 + O

L 0 ones
4 tens

Compact formof 40 +0=4

17.20 +

18. 60 +

19.50 +

20.60 +

21.40 +

22.30 +

23.20 +

24. 30 +

2

0
o






